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1. 10 A.
fig: (39600-13200) = (13200+-30=10X15)-30=10(\).
2. 1296 k.
fift: 1944+54+12X (18+54) X (12+2)=1296 CK).
3. 28 A.
fift: (28X 25-28X5) =+ (25-5-10) —28=28 (\).
4. 16 K.
fift: (15X 16-5X16) <+ (16-6)=16 CK).
5. 12 K.
fid: 2520+ (1620+9+12X14)=12(K).
6. 12 K.
fift: 15X4X 18-+ [(15+3) X (4+1) 1=12(CK).
7. 1200 ff.
fift: 720+18--2X 20X 3=1200 (£f).
8. 141k
fift: 77+ [(80+4-5)+(36+3+8) =14 (IK).
9. 16 K.
fi#: (12000+12000 0. 28) + (12000 15+12000-15 X %)16(%).
10. 20 K.

fift: 4200+ (840+10-+-8X20)=20(K).

11, ek 1 EHLEE 1 /NEFHEAK ST : 12607 +8--15=1. 5 ().

Bk 1 GHLERAE 12 A2 14 REKIIEH: 1.5 X 12X
14=252 (M) .

AR T T E S5 7560+252=30 ().

grtsat: 7560126015+ (8X7) X (12X 14)1=30(&).

12, SRR NN 900+ 15-+3=20 ().

TSR AN 20X 10 X 8=1600 ().

B sk AN 1600-900=700 (4N) .

1

13, Sesk BB RERIE AE R : 2000 X > +—4-+50=5(H).
ok B IR )22 A — ot ais R (50+50) X 5=500 (B) .
%Ei&ﬁ%@%ﬁﬁ:%wx%+mo%ﬁ)

fafd 7k 4+ [(50+50) +50]=2 (¥K).

14, Seskbdi—F AR 3+ (2-1)=1. 5 (434%H) .
PR 6 BEAHIIREL: 6-1=5(IK).

e Ja sk LK) . 1.5 X 5=7. 5 (434 .
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